KOFHE

O1#

i
ik
pui|
o
pui|

' SLDEE - RiE

M F AW

— @ FIZE1 @

ROFEZE LS
4 xXby
= (4X %) X (5Xy)
= (4X5) X (xXy)
=20xvy

\.

—6 0 DFIE1 ~

J

11 WOFHEZLZRSW

(1) 2xX7y

(2) (=6x)X4y

(3) (—3a)x(—9b)

(4) 8 axX —x

— @ F1]EE3 @

WOFEZ LI
12xy—+3x
—12xy
= P

—6 0 DOFIE2 ~
.

J

13 koFEZ LRI

(1) 14ab=+7hb

(2) 9xy+(—3x%)

(3) (—10x*y)+2xy

Q7 EH =2 @
WOFHHE Z L7 S
x X x*
=x X (xXx)
:X:%

— 5 4 OFIEE 2 ~

12 WoOFHEZLZRSW

(1) a*Xa

(2) (=3x)°

(3) (=56 xy)X2xy

r O FEHA @
WOFHEZ Lg s

) ) 1
(—6xﬁ<‘7;x
— — 6 2 - X
( x?) 5
= (—6x) x =
X
_ — 5 5 OFIE 2 ~
. =12 )

14 JKOMIZEZ RSN

2
—8 4% = =2
( x %) 3



